850

*Tvay DS —80ft#k
[%1 [%1 ) FETLE DS—_01P (F« ATV ABE4EKg. T+« ATVAEDEE 1400mm. Wik L&E& ML )
GEHLATA Y-ty b DS—02P oo SPCC. STKR
MR /N — DS—03P SS400(r L)
= o BiE Y= (750 LEEERR)
s AAEE #40kg
810 | EHEE 7o AT U ABmTE : 45kgU T /MRS : 10kgh T
W57 ATUASAK | 3T~B2R (2= R= W7 5y F XY b )x 1
BElRE 20" BE(F4 AT L 4 BEs)
%’ EB - HGEHNE KEBAI0ON(31kgf) (BDMLE)
it B KEFASIS/ W
200~ /25 =R 1024mm
460 109 290 5w 35— 61009707 by - Bl (EROELD /SHOGES % 2)
W28 I N—Y Lk
= \ /M B Jy 75y (BERAT R
: : A5y FxR—3
[ - B () 2185 : W875x DB75x H380(% 4 v )
Q — W905x D1245x H125(x«4 v 7L - L)
N AoEE £ 48kg
(F+« ATV AEfA)
tERA LI ANMIL BB
(M4x 18. M5x 20. M6x 30. M8x 25. M8x 45)
| . - ARty b 86 (M4 M5 M6 M8
o BRI o 400 HnE:: 56 (WURES5 FUES
© N _ FER:86 (HUES HUES)
2l o 1 MBS AR=4=id4 ($21x12 Lé8
= ¥ , + < = " (BRATA)
! —y © o +ERMBAN L ERBIA(MAX 10 21
S +ERABAA U ESEA(M5X 15 : 10
S +ZRABANM L BRI (MEX 15) 12
i 1 S - FHAD b (FERABA N C BB (MSX 15) -1
- ™~ . %1 —HABTELENT AT LA RBUET,
a0 @ * 2 BHETII60° PRI Y3 Y TITHETT,
. @ J $100 % ¢ 25—
850 820 Aby i-ftx 2
' ' Abyn-EL 2@
ROHSH &
BRE% BRER #R R DATE RE
e | NS o N 1
QS #XSHA T | 7. 2702501 DS—80 23 /15 | mm |2010/1 | BetrE




